RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving a Budget of \$2,180,547.92 for FY2015 Tohono O'odham Gaming Office to regulate the Desert Diamond Casino-West Valley Resort)

RESOLUTION NO. 15-160

1	WHEREAS,	Ordinance 93-01, the Ordinance for the Regulation of Gaming Activities Within
2		The Tohono O'odham Nation (the "Ordinance") as well as the Compact entered
3		into between the Tohono O'odham Nation and the State of Arizona, provide that
4		the Tohono O'odham Gaming Office ("Gaming Office") shall regulate gaming
5		activities within the Nation; and
6	WHEREAS,	a new gaming facility location and Gaming Offices are being constructed near
7		Glendale, Arizona, more commonly known as the Desert Diamond Casino-West
8		Valley Resort ("WVR") ; and
9	WHEREAS,	the first phase of WVR is expected to open in the fourth quarter of fiscal year
10		2015 with gaming activities offered, with continual construction, improvements
11		and expanded gaming activities to follow; and
12	WHEREAS,	the Gaming Office has prepared the attached FY2015 Gaming Office WVR
13		operating budget, to add employees to regulate the gaming activities at WVR;
14		and
15	WHEREAS,	the attached FY 2015 Gaming Office WVR Budget is a separate budget from the
16		existing FY 2015 Gaming Office Budget, 001-15-1040; and
17	WHEREAS,	the Commerce and Budget and Finance Committees of the Legislative Council
18		have reviewed and recommend approval of the FY 2015 Gaming Office WVR
19		Budget.
20	NOW, THERE	SFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council hereby
21		approves the FY 2015 Gaming Office Budget in the amount of \$2,180,547.92 to
22		regulate gaming activities at the Desert Diamond Casino West Valley Resort, to
23		be appropriated from the general fund.
24	BE IT FURTH	ER RESOLVED that the general fund shall be reimbursed this amount from the
25		Judgment Funds as approved by Resolution 15-127.
26	BE IT FURTH	IER RESOLVED that the Tohono O'odham Gaming Office budget that any funds
27		unexpended will automatically be forwarded to the next budget year and the
28		Gaming Office will seek additional funds for the continuation of the operation.
29	BE IT FINALL	Y RESOLVED that the Tohono O'odham Legislative Council hereby authorizes the
30		Chairperson and any designated official to expend and administer the budget as
31		attached, provided that any amendments affecting the funds or funding level
32		shall be submitted for further prior approval by the Tohono O'odham Legislative
33		Council.

RESOLUTION NO. 15-160

49 50 (Approving a Budget of \$2,180,547.92 for FY2015 Tohono O'odham Gaming Office to regulate the Desert Diamond Casino-West Valley Resort) Page 2 of 3

1	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 12^{Th}
2 3	day of MAY, 2015 at a meeting at which a quorum was present with a vote of 2,926.9 FOR0.
3	AGAINST; -0- NOT VOTING; and [02] ABSENT, pursuant to the powers vested in the Council by
4	Article VI, Section 1(d)(2) of the Constitution of the Tohono O'odham Nation, adopted by the
5	Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant
6	Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of
7	June 18, 1934 (48 Stat.984).
7	Jane 10, 1991 (10 Stat. 301).
ğ	
10	TOHONO O'ODHAM LEGISLATIVE COUNCIL
11	$I_{\text{lin}} \cdot I_{\text{lin}} \cdot I_{\text{lin}} = I_{\text{lin}} \cdot I_{$
12	
13	/ Timothy Joaquin, Legislative Chairman
14	1 V M M
15	$\frac{13}{\text{day of}} \frac{\text{M Cy}}{\text{day}}$, 2015
16	
17	
18	ATTEST:
19	
20	- MINUMEN
21	Evonne Wilson, Legislative Secretary
22	~ 11
23	$\frac{12}{2}$ day of $\frac{1}{2}$ $\frac{1}{2}$, 2015
24	
25	Said Resolution was submitted for approval to the office of the Chairman of the make
26	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the
27	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become
28	effective upon his approval or upon his failure to either approve or disapprove it within 48
29	hours of submittal.
30	Avais of Submittui.
31	TATIONO CIODITATIONO CONTINUE DE CONTINUE
32	γομονο ο odham legislative council
33	hand la
34	//WWILLAW WINGL
35	
36	/Jimothy Joaqqiin, Legislative Chairman
37	
38	
39	[XAPPROVED on the /S day of May
40	APPROVED on the
41	\sim
42	[] DISAPPROVED at $\frac{4'.14}{}$ o'clock, $\frac{1}{}$.m.
43	\sim \sim \sim
44	$\Lambda \setminus M \setminus \Lambda \setminus M \setminus M$
45	// U/_ // {I/~_\
46	NED NORRIS, JR., CHAIRMAN
47	TOHONO O'ODHAM NATION
48	· · · · · · · · · · · · · · · · · · ·

	ge 3 of 3				iL-			
Re	turned to th	e Legisla	tive Secre	tary on the	ē <u>/⊃</u> da	ay of		
	turned to th	uller	, 2015, a	ıt <u>4.37</u> oʻd	elock, _	<u>2</u> .m.		
	nne Wilson	Legisla	tive Secre	tarr				
	June Wilson	i, negista	ave secre	LALY				

ACTION: APPROVING A BUDGET OF \$2,180,547.92 FOR FY 2015 TOHONO O'ODHAM GAMING OFFICE TO

REGULATE THE DESERT DIAMOND CASINO-WEST VALLEY RESORT

MOVED: COUNCILWOMAN FRANCES MIGUEL

SECOND: COUNCILWOMAN ETHEL GARCIA

DATE: MAY 12, 2015

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK	1. LUCINDA ALLEN (Nicholas Jose)	112.1	X			
224.2	2. MARY LOPEZ	112.1	X			
SELLS	1. ARTHUR WILSON (Ophelia Patten)	251,0	Х			
502.0	2. BARBARA HAVIER (Beverly Rivas)	251.0	x			
SCHUK TOAK 174.2	1. ANTHONY J. RIOS	87.1	х			Х
174.2	2. QUINTIN C. LOPEZ (John Fendenheim)	87.1	Х			
SAN XAVIER 224.2	1. HILARION CAMPUS (Daniel L.A. Preston, III)	112.1	Х			
224.2	2. RACHEAL VILSON-STONER (Olivia Villegas-Liston)	112.1	х	<u>'</u>		
SAN LUCY	1. DIANA MANUEL (Gloria Ramirez)	109.8	х			
219.6	2. JANA MONTANA ()	109.8	X			
PISINEMO 210.6	1. CHESTER ANTONE (Tony Murrietta)	105.3	X			
210.0	2. EDWARD MANUEL, SR.	105.3	Х			
HICKIWAN 196.9	1. LOUIS R. LOPEZ () 2. SANDRA ORTEGA	98.45	X			
	(Manuel Osequeda, Jr.)	98.45	X			
GU VO 241.0	1. GRACE MANUEL (Floyd Flores) 2. PAMELA ANGHILL	120.5				
· <u>.</u>	(Jeffery Antone, Sr.)	120.5	X	_		
GU ACHI 257.3	1. TIMOTHY L. JOAQUIN () 2. LORETTA LEWIS	128.65	:		ļ	
	(Louis Johnson)	128.65	X			
CHUKUT KUK 319.2	1. ETHEL GARCIA (Marlakay C. Henry)	159.6	X			
	2. BILLMAN LOPEZ ()	159.6	X			
BABOQUIVARI	1. FRANCES MIGUEL (Roberta Harvey)	178.85	Х	-		Х
357.7	2. VERNON J. SMITH (Gloria Zazueta)	178.85	х			
	TOTAL	2,926.9	2,926.9	-0-	-0-	[02]